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Il Semester B.Com. Examination, May/June 2014
(Repeaters) (Prior to 2011-12)
COMMERCE
Business Statistics

Time : 3 Hours Max. Marks : 90

Instruction : Answers should be written fully in English or in Kannada.

SECTION-A

Answer any ten sub-questions from the following. Each sub-question carries2 marks.
(2x10=20)

1. a) Define Statistics.

b) Mention four functions of statistics.

c) What are requisite of good average ?

d) Given Mean =202 and Median =221. Find Mode.

e) Mention the types of averages.

f) If bxy = 0.8 and byx = 0.6 find r’.

g) How range is calculated ?

h) What is a questionnaire ?

i) Give the formula of FRT.

j) What is current year ?

k) If C.V.=21.43 and Variance = 144 find X .
[) What do you mean by correlation ?

SECTION-B

Answer any 5 questions. Each carries 5 marks. (5x5=25)

2. Find the Mean from the following : _
Marks below 10 20 30 40 50 60 70
No.of Students : 18 35 58 73 80 9% 100
P.T.O.
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3. From the following data calculate Median.

Midvalues : 10 20 30 40 50 60
Frequency : 5 10 25 20 15 5

4. From the following data compute Q.D. and its coefficient.
Marks : 20 25 30 35 40 45 50 55 60 65 75

5. Calculate the Rank Correlation coefficient from the following data.
X:46 60 72 62 5 39 5 30
Y : 62 78 65 70 38 54 60 3

6. Compute standard deviation from the following data :
X: 3 4 5 6 7 8 9
58083 1 04.7 12 4

7. Obtain the two regression equation from the following :

Series X Variance
X 20 4
Y 25 9

Coefficient of correlation = 0.75.

8. Calculate missing frequency given Median = 28.
Classinterval : 0-10 10-20 20-30 30-40 40-50
Frequency : 5 ? 15 16 6

9. Construct the cost living index number by using Family Budget Method.

items A B C D E
Qty. : 50 100 60 30 40
Price2005 : 6 2 4 10 8

Price2010 : 10 4 6 12 12
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SECTION-C
Answer any three questions. Each carries 15 marks. (3x15=45)

10. Compute the Mean, Median and Mode from the following :
Midvalues : 115 125 135 145 155 165 175 185
Frequency : 9 25 48 72 116 60 38 22

11. Two brands of tyres are tested for their life. If consistency is the criterion which
brand of tyres would you prefer from following information.
Lifeinmonths : 20-25 25-30 30-35 35-40 40-45
Tyre X : 1 22 64 10 3
TyreY : 5 21 74 1 1

12. Compute Karl Pearson’s coefficient of correlation.
Supply : 30 29 290 25 24 25 23 21 18 15
Demand : 11 12 13 14 15 16 15 17 18 20
13. From following information calculate (a) Two Regression Equation
(b) Most probable value of X when Y = 70.
X : 42 44 58 55 8 98 66 72
Y : 56 49 53 58 65 76 58 61

14. Compute Fisher’s index number and show how it satisfies the TRT and FRT.
Year
2005 2009
ltems Price Qty. Price Qty.
A 2 100 3 110
10 80
50 7

m O O w
N O A~ O
s 8 3
3B &
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83 3YNT IR TR 10 BINERD YUZ0R. B8 BIM 2 L0BneDd. (2x10=20)
1. &) RoTYTIRZI) DR

b) R0am TR T, TDOFNER THUDR.

C) 2,000 VB BNTO RTIROOD BT F 20BN 03N ?

d) 2000 BE03T BoIRO = 202, [GE = 221, $TT WO WHIRT FTIROIIR), 30T
3&CA0.

€) ARG BTIRONTR TRROR.
f) bxy = 0.8 =583 byx = 0.6 SN ABIOWOHHI FOR SR
0) @ozdmg Zen eﬁ%ﬁo@zﬁ ?
h) ST 20ETe?
i) 203 @&%md WRCRRH aj@eioja mgm{ W3OND.
j) 239 BRE DomBed?
k) C.V.=21.43 mne WIZ= 144 YRS AZIODDOT X 3, 30TO LBAD.
) T F0200% 0TTER?

NN - W
03R)TPT3R 5 @%ﬁ@?ﬁ YUB0R. B @éﬁ 5 ea03ned. (5x5=25)

2. 33380 mﬁ@ ness ﬁ@#@oﬁ&’% FOT LBOOD.
osnwno3zRY . 10. 20 30 40 50 60 70

ARPrAYRess 1 18 3B 58 73 8 9% 100
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33 380 RSOWOTI BRI T DIUBOI 3B BT A% MOEDBESR), BOTD LBOND.

wosned: 20 25 30 35 40 45 50 55 60 65 75

3,088 A% BOWOTBI, TOBO LBAD.
X : 46 60 72 62 56 I 52 D
Y

. 62 78 65 70 38 54 60 32

83 39N TT0BNP0T 02308 (SD) FTIneass) oD &BO00D.
X:3 4 5 8 7 .89

f : 9 3 11 14 7 12 4

83 3N B 0BT DT ARIRT,03060 FRCFTENT, HBO.
ety Flepria) S

X 4

Y 9

RBR0W0G Nesaos=0.75.

R385 28 93Y 30 Beed SRR o> BRI,

3
S
o

sne . 0-10 10-20 20-30 30-40 40-50

ssda ;5 ? 15 16 6
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9. 23633 aﬁai #.razsa?soéddgl 3PN d@goz’ﬁé BOLD0L) LIOTIDO DTITTE) FOT) &NV,

S3laplate A B C D E
BRRE : 50 100 60 30 40
2363(2005) : 6 . 4 10 8
2363(2010) : 10 4 6 12.5. 12
TN - X
| CIRTTHTTR 3 TIReR Lugor. (3x15=45)

10. 313918 BPES00r HORD, F05 8 S5 WA B0 LeBOwD

11.

oG werd> 1 115 125 135 145 155 165 175 185

ST 9 25 48 72 116 60 38 oz

QTR 139,00° oY e @5@033&3{ ﬁ@ez‘aﬁdwﬂ 83 $IB0BoE HOT0B L eoNT,

2BeDPRO  : 20-25 25-30 30-35 35-40 40—45
Xo'neRess, 1 2 64 10 3
YorneRess, 3 21 74 1 1

P?Ddéoj: STV T30ee3 O3 w_a)owmq Qﬁ&?@é\ﬁb@@ ?

12. B33PNS QROINSR ToF ¢ Q03T F T ABROWOTRR,FOTI SR

ZpSF(Supply) : 30 20 29 25 24 25 23 21 18 15

Wekd(Demand) : 11 12 13 14 15 16 15 17 18 20
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13. 3PN S79&E000T (A) TR G0BOFO m’é)oeédsaﬂ%g{ BT &0, (b) Y 823370
‘&Cé@ X3 a:"m?cmaﬁgt £90T3022R. "

X : 42 4 58 55 8 98 66 72
Y : 56 49 53 58 65 76 58 61

14. B3NS THRO0B JBO'S BTBF ReLR0TRIFOR LROWO. Wb Bert TRT w2 FRT
TOFIFR) FHMRPRIFTI0wITBR) BRE0R.

SR - 2005 R - 2009
SR 233 333969 2363 39
A 2 100 3 110
B 8 80 10 80
C 4 50 7 45
D 6 10 6 20
E 2 60 4 60




